> Multlple




Q A multiple of a number Is the

. product of the number and any
5 whole number.

&

6x0=0 6 x5=230
6x1=6 6 X6 =236
ox2=12 oX /=42
ox3=18 6Xx8=48
ox4=724 ox9=054 -




6x0=0 6x5=30
6x1=6 6X6=36
ox2=12 oXx /=42
6x3=18 6 x 8 =148

C 6XxXx4=724 6Xx9=54
The multiples of 6 are:
Py ’

w0, 6,12, 18, 24, 30, 36, 42, 48, 54, .-




The Least Common Multiple
IS the smallest multiple that
two or more numbers have In
common.

To find the LCIM of

two or more numbers
you can make a list of
the multiples.




€ Make a list of multiples:
v
Find the LCM of 4 and 6.

|
As Make a list of several

2 multiples of the numbers.
Multiples of 4:

Q048121620242832...

s Multiples of 6:
v 0,6, 12, 18, 24, 30, 36, .




)
.Q 4,38, 12, 16, 20, 24, 28, 32, 36, ...
W 6,12, 18, 24, 30, 36, ...

& ldentify the common multiples
. Identify :

i of 4 and 6.
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)
.Q 4,38,12, 16, 20, 24, 28, 32, 30, ...
W 6,12,18, 24, 30, 36, ...

& ldentify the common multiples
. Identify :

i of 4 and 6.
&
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)
.Q 4,8, 12,16, 20, 24, 28, 32, 30, ...
W 6,12,18, 24, 30, 36, ...

& ldentify the common multiples
. Identify :

i of 4 and 6.
&
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)
.Q 4,8, 12,16, 20, 24, 28, 32, 36, ...
W 6,12,18, 24, 30, 36, ...

& ldentify the common multiples
. Identify :

i of 4 and 6.
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.
o5 4,8,12,16,20,24,28,32, %6, .
% 6, 12,18, 24,30, 36, ...
Py

The common multiples are
12, 24 and 36.
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AQ The LCMofd4and6is 1”2 .
o

.5 LCM =12
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y_
.Q Find the LCM of 15 and 9.
W 15 30. 45, 60. 75, ...
P

2 0. 18 27.36 45.54. ...
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y_
.Q Find the LCM of 15 and 9.
W 15 30. 45, 60. 75, ...
P

2 0. 18 27.36 45.54. ...

Find the common multiples of

.Q 15 and 9.
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.Q Find the LCM of 15 and 9.
W 15 30, 45. 60. 75, ...
P

2 0.18 27.36 45.54. ...

Find the common multiples of

.Q 15 and 9.
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.Q Find the LCM of 15 and 9.
W 15 30, 45. 60. 75, ...
P

2 0.18 27.36 45.54. ...

w

AQ The LCM of 15and 9 1s 45.
T
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LCM =45



L
.Q Find the LCM of 6 and 9.

:é 6 12.18. 24 30, 36. ..
m 9 18, 27. 36, 45.54. ...
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L
.Q Find the LCM of 6 and 9.

:é 6 12.18. 24 30, 36. ..
m 9 18, 27.36. 45,54 ...

g
o~
| 4




L
.Q Find the LCM of 6 and 9.

:é 6 12.18. 24 30, 36. ..
2 9 18,27 36.45. 54 ...
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L
.Q Find the LCM of 6 and 9.

:é 6 12.18. 24 30, 36. ..
2 9 18,27 36.45. 54 ...

W LCM = 18
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L
.Q Find the LCM of 6 and 12.

:é 6 12.18. 24. 30. 36. ...
e 12,24,36, ..
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L .
.Q Find the LCIM of 6 and 12.

W 51218 24.30. 36 ...
P
12.24. 36 ...




L .
.Q Find the LCM of 6 and 12.

W 51218 24.30. 36, ...
P
12.24.36. ...




L .
.Q Find the LCIM of 6 and 12.

:é 6 12.18. 2430, 36. ...
B 12,2436, ..

o

W I CcM= 12
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L
.Q Find the LCIM of 4, 6 and 8.

‘5481216202428
‘ 6. 12. 18. 24. 30. 36. .
§81624324o
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L
.Q Find the LCM of 4, 6 and 8.

‘5481216202428
‘ 6. 12. 18. 24. 30. 36. .
§81624324o
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L
.Q Find the LCIM of 4, 6 and 8.

‘5481216202428
‘ 6. 12. 18. 24. 30. 36. .
§81624324o

.Q LCM = 24
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